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The ﬁgures in the margin indicate full imdrks
' Jfor the questzons vz clepon

Answer all questlons
.. UNIT—I .
1. Answer any two of the followmg - 2x2=4

(a) What is c1rcular ﬂow of 1ncome?

(b). Mentlon two hm1tat.10ns . of 'macro-
€Cconomics.

!

(c) State  two points, of 1mportance of
_,stud1es of national income accounts

‘2. Answer either (a) or (b) from the following : 10
(a) ' (i)' Distinguish: * Between'' ' 'macro-

5 economics and microeconomics. 4
- “(ii) Discuss in brief the scope of

Macroeconomics. | 6
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(b)

ol (BDED) DAY
0 Make a d1st1nct10n between GDP

and GNP atvmarket price.

(3)
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Wi > Expl 5. Answer any two of the followmg 2x2=4
(@ ?t 1Salnat1<21na;ld1ncome l);p i (a) Distinguish between Creepmg 'inflation
¢ ue-a; d azlip.proac ;f D1 -2 and galloping inflation. i1 i1 1
_espmauo_n 0t national, income. +5=7] (b) State two causes of inflation.
coirmon s AUNITIL o donbowind ) (C) What is inﬂatio"n ary’ gap?
- 6. Answer either (a) or (b) from the followmg 10
3. An 1 b =4 Pt L0 &2
swer any o of th ; follomg ' 2x27 b | (a) Examine the effects of 1nﬂat10n ‘How
(a) What are meant by money and ".can:inflation be controlled? . 15+5=10
near-money? : .(b)  Explain clearly the, followmg w1th the
Cgi . A " help of dlagram - 5+5=10
(b) Distinguish - between the :crude and 2
sophisticated versions: of the quantity o Demand pull mﬂatlop
theory of money. (u) Cost—push mﬂatlon
(c) Give two assumptxons of liquidity UNIT—IV
fe L : i aph DI
preiceence Shcory of interest. 7. Answer any two of the followmg 2x2=4
A ) ’(d) "'Give ‘two reasons behind the ‘use’ of
a. - (a) 1e

Answer either (a) o {b) from the followmg 108 (-2 IS-LM tool in macroeconomic analysis.

(@) (i) Explain the process of multlple (b) What is fiscal policy?. . : .
expansion depOSItS by a (c) State two Keynesian arguments against
commercial bank 5 . .. monetary rule. 1 "

(w thi are the hm1ts to the DTOCCSS of 8. Answer eitheri(a) or:(b)’ from the’following : 10
credit ti
creation by *“commercial ".(a) -(})) Compare and contrast the classical
banks? 4 -9
AN 19wWert Wb . - and  the :Keynesian, models of
(b) What .are the main instruments , of . .income . determination. ; 5
monetary . . policy? . .Assess  the /(i) Explain”the impact of changes in
effectiveness of monetary . policy to ‘ money supply in the Keynesian
tackle inflation. 5+5=10 systems. * - S




(4)

(b) Examine the -Keynesian view on

- effectiveness of— .o

() monetary policy; 1 il
(i) fiscal policy. 5+5=1

U UNT—V
9. Answer any two of the folléwmg o 2x2=
- -.{a) What are': BoP deficit:and: surplus?

,l(b) "Dlstmgmsh between balance of trade
and balance of payments M

L

(c) Ment10n two causes of d1sequ111br1um in
balance of payments "

10. Answer eLther (a) or {b) frorn the followmg 1

(a) Make a- clear d1st1nct1on between the
following : . .- e 14z 9=
(i Balance -of j':cuifrent ‘account and
:Balance of capital account:
(i) Autonomous transactions’ and
... /Accommodating transactions. ..’

.(b)- What' are *the’ different”’ types ' 'of
- disequilibrium -in *“'the ' 'balance of
payments? . How 'can ‘the 'balance of
payments’ dlsequlhbnum be corrected?

. ol 4+6=1(
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